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Note:- Questions from 1 to 25 carry equal mark of 1 each and from 26 to 30 carry equal

mark of 2 each.

L ¥ The velocity of an object can be changed by T TEH AW 7997 F ATAA I8 5 HZL £t
N 5 oft o2 @z &1 W o Iud af 5 A A
et 3= 1 37 FFae I =<1 ST qhaT fr T 7
&
(A) Changing the speed (A)5m
(T3 & i ) (B)2.5m
(B) Changing the direction of motion \«('e)/lo il

(rfr £ o A Rk 3) (D) none of these

(C) Changing both the speed and direction 'ﬁhen a ray of light falls on an object, it

of motion may be :
(rf ol Fom <A 7 e ) w77 srerTer f Fror et g R aEt &, A1 A7
\/(’D/) All (a), (b) and (c) are true R EiE )
,/% case of a moving body (A) Absorbed (sreitfi)
e e € ot (B) Transmitted (3f¥d)

(C) Reflected (RTafdd)

(A) Distance > Displacement

(72\-}31- > ﬁ-@ﬂ-ﬁ) \}D')"A” of them

(B) Distance <Displacement 5. ¥ight travels from a rarer to a denser
(7?*?%< : l, ) medium it will have.
Distance >Displacement TFTer T PR AT & WA WA £
(%1 > faear) o s

(D) Distance < Displacement ; S
(7 < Fear) (A) Increased velocity (377 # 3Z)

/A boy is standing in front of a plane mirror (B) Decreased velocity (3T # )

at a distance of 5 m from it. What is the (C) Decreased wavelength

distance  between the boy and his (AT 354 | FHY)

image? ﬁoth (b) and () (FT () = (7f))
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L})’t\u are given three media A, B and C of (ﬁ?ﬁ AT F A 3 9;
refractive index 1.33, 1.65 and 1.46. The qr:qﬁl:r?ﬁmﬂ' gHTT 2Id 2)
medium in which the light will travel fastest (D) None of these.
= G AP o)
HITHT T AT 1,33, 1.65 AT 146 F AT (Moating on water in a beaker when ice
fiftar A, B dxCc Ru v §) 73 wrem completely melts then level of water in
S worer F27 A T 7 ATHAT FAT beaker: :
= e AT H A T T AT TG g 9 AR
"f;)g T v e St & A7 A § A A
(ELE il

/(,p) EqualinAB&C (A) Increases (dg STTdT %)

i\')t/\k'hen we insert a coin to a glass half filled (B) Decreases (=€ SIIdl %)

with water then coin appears as raised \}Q’)/Remains the same (THM TZ4T 8)
slightly which is due to? (D) First increases then decreases

FF 29 I F A1er ¢ e § v

(T8t FFAT & fFT ueAT )
37 2 e Frw 30 h Llp/@ﬂch of the following factors do not
affect the rate of evaporation —
(A) Reflection (CRTd?&:l) Feffes & @ =9 a1 T
JB)/Refraction (FTTAT) A £ 5T FT wATRT TE T

(C) Dispersion (fa&aon i
(D) Scattering (qaﬁvh)
_,(/Aﬁpth of liquid ( &%t £ Teers)

7 W of the following statements (B) Humidity of surrounding air
\_~" regarding melting point and freezing point (3T & gar i A

of a substance is true?
faft q274 F qeraTE A7 FurE F aay w
fagferfaa & 7 19 97 F47 707 20

u’/p) Surface of liquid (7T $T Tag)
Wﬂmng point of a substance is more 1. During summer water kept in earthen pot

than its freezing point.

(C) Temperature of liquid
(AT FT ATIHT)

: | . . becomes cool because of the phenomena —
(T mzvd A e ey i A

qng =g & Y & ader & <z ol Ry
A= Zrar 2) FTTOT | ST Y ATAT §-
(B) Melting point of a substance is less
than its freezing point. (A) Diffusion (HT)
(T g w5 e gy famrw A (B) Transpiration (ATCITESI)
F9 Z1d7 2) (C) Osmosis (3=aTa)
elting point and freezing point of a \/(,B’)/Evaporation (aredt=Ton)

substance are same numerically,

D - 5
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|2 Which of the followi g phenomena of
\ light are involved in the formation of a
“rainbow?
TR ¥ o & waver f R i
¥t wrar enfire 2 20

AA) Refraction, dispersion and total
internal reflection (3TadT, 1A oft7
7t arafes quady)

{B) Refraction, dispersion and internal
reflection (#7344, ¥ATT of1T At
Tad)

(C) Dispersion, scattering and total
internal reflection (&G, wimfa T
o wrAfE WiEd)

(D) Reflection, refraction and dispersion
(T, AT s faeaun

/] J
337 Which of the following non-metal is
liquid?
Frafafam & & #19 #f oomqg a9 &2

(A) Oxygen (ATRIT=)
(B) lodine (ATATETA)
(C) Hydrogen (FTZ3T9)

‘)‘B‘f‘Bromine @)

14/ Alloys are homogeneous mixtures of a
metal with a metal or non-metal. Which
among the following alloys contain non-
metal as one of its constituents?

farspsr ol e &1 Greft g a1 Aeq
g gATATg fam 218 31 Fafafa g
fam fapqor & o 2% & =7 § 41
o 77

(A) Amalgam (4HTH)
JJ-!’)/Steel (F1)

(C) Bronze (7T¥7)

(D) Brass (fra=)

i

hich component of blood transports,

P carhon dioxide, and nitrogenous wastes in

dissolved form?
Tl 1 B 1 e drd- S HIFTES

o TN Srufrgl bl gferd &4
1} el B e
(A)RBC (ArrAtft)
f Plasma (TTSHT)
(C) Platelets (A=)
(D) WBC (z77A11)

16, Which of the following phenomena

" contributes significantly to the reddish

appearance of the sun at sunrise or sunset?
Rrafarfara & & 71 4 gzar qa=g A
qate ¥ w7 ¥ A T & =T
qTTETE A1 32
Scattering of light (TFT¢T FT )
(B) Total internal reflection of light
(STTST T T ST GRIe)
(C) Dispersion of light (WQTﬂﬁan)
(D) Reflection of light from the earth
(AT & 19T T W)

Mertia is that property of a body by virtue
of which the body is :

sz Frdt e %1 ag o § Fms AT

Tgfiz

(A) Unable to change by itself the state of
rest
(e £ ey N = F7q |
)

(B) Unable to change by itself the state of

uniform motion
(AT afd f Paf &1 ' agew

| AqAd)
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(C) Unable to change by itself the direction

of motion
(T A Rt Tz & sprped)
P Unable to change by itself the state of

rest and of uniform linear motion
(R A Raf she v ¥ oy
SR ECER L5

13. A man is at rest in the middle of a pond on
§

4 perfectly smooth ice. He can get himself to

\

the shore by making use of Newton's

T AT AT ¥ fror 3 e Rk
T AR F7 72 R A oA & P @
?mﬁwmﬁrq?#7ﬁ3ﬁ3$¢?ﬂqmm%
(A) First law (7271 fam)

(B) Second law (za7T fmm)
(C) Third law (a7 fiam)

Ml the laws (7T f‘?mq)

1941n which of the following cases the net force
' is not zero?
ﬁaﬁﬁa?rffﬁﬁw_rﬁ'ﬁﬁm9ﬁﬂﬁé?
(A) A kite skillfully held stationary in the
sky
(F TAT TAAAT T AR & g 3t
ball freely falling from a height
(?mé#nﬁﬁzwﬁﬁwﬂzévmﬁm
(C) An aeroplane rising upward at an angle
of 45° with the horizontal with a
constant speed
("F ZATE FETA U Bz wfa ¥ oy
AT A 45° F F07 07 T A iy g

7 %)
(D) A cork floating on the surface of water
(A A 717 7 B g o @i

W 4

& .
is climbi se. The energy
an is climbing a stairca
20, K'm |
he uses does not depends upon :
o, Y AT T 93 721 2, 9 A HAl
F1 370 F791 2 77 78 7 (AT A5 AT

5,

{A) The height of the staircase
(@ 1 351%)
(B) The weight of his body

(frf = 7= § = )
(D) The mass of his body
(F5F 2T %7 Z23w7)

/2./Fotential energy of your body is minimum

when :
am%aﬁh#i#mﬁﬁszaﬁﬁwﬁﬁ?%
EEN

(A) You are standing (a7 =% &)

V('B‘ﬁou lie down on floor (a7 w1 T A

(C) You are sitting on chair
(T T A5 §)
(D) Sitting on the ground (FT+ 7= EET )

2/26ravitational force is a:

(A) Short range force (7 R )
Mong range force (r"i"-ﬁ'“{ﬁ FT A7)
(C) Medium range force (TR T w13
(D) Does not depend on distance between
the two bodies (2T frat ¥ frafrgh
T T Tl e )
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3. The b

. alloon stops risi

} atloon stops rising up beyond a
-‘: a0 ar \~
particular height when the density of gas
mside the balloon:

ST Y U QN Grard @ SuR 33+ @

o 3 a s S .
ST dd (AT & A7 7 7 e 2YAT
3.

o
‘/(,M{\cccds the density of air outside
(ATET 24T ¥ gqeT & ufaw 3)

(B) equals the density of air
(a7 ¥ 993 F a7 2)

(C) becomes less than the density of air
(AT % 7T T FH 2T A7)

(D) none of the above
(ITT W AL TG

\&4 The cells are joined in parallel to get the

maximum current when:

QT | ST AT 8 94

(A) External resistance is very large as

compared to the total internal

resistance
(gt s afaer A Jer 7 et
gfA7TY a5 731 2)

(B) Internal resistance is very large as

compared to the external resistance

(arafy afadrsy £t qear # AT
gty aga 4371 2)

Jp’}{nlcrnnl resistance  and external

resistance are equal
(arrfrs afAzre e arzfr afaay
7747 3)

(D) EMF of each cell is very large

\%\ cell, an ammeter and a voltmeter are all

connected in series. The ammeter reads a
current | and the voltmeter a potential
difference V. If a torch bulb is connected

across the voltmeter, then.

s # 9 30 8 mafizT F7e | TZAT @ AT

Arefiar RyaiaR V TZaT 21 3f% o 2

(A) Both I and V will increase (1 5% i
AZT)

(B) Both 1 and V will decrease (I ATV
AT TET)

)Q(v«‘/ill increase but V will decrease (192

SO A {3 V S STaE)

(D) I will decrease but V will increase (I

AT AV FT)

5 I PFa B2
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Market, Bhopal

20 \\'l;;lmixlllllmnékin' Hﬂl'q,ue /
g an @ 5
_Hodlpreor Ko, m_cot ............. ' -------- AT / HOWOIEQA%&[:? jb'.z
_____ O LAQLL 4 gafkéfﬂ0ﬂlkfﬁwlgzc H A
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27. Where can a common person get information on hallmarking?
RICTHITchT] 1 TSR 311 3ireH) ) Pei 2 el Tebel 82 ;
e We LA C}éwl:* Mo inbs uma Hen o E‘

\~/ hﬁMﬂ?M Liaa b vegjf Jjg J __c;,ﬁop/,- o/
Stoclurtpa?. avma— able 0;1.’.3 leel on 3 N tesrne -

\
p}(am an DPP«:’J Gto vehmme - Hun we beite af; /%wfzvaqé
28. If a gold ornament has gold of 20 carats then what is the purity % of the gold used in the ornamenlt"d(n hm‘[oa

afe gep T & yuo F 20 HYE BT BT A Ao A ver T 3 el % 1 8

. e
-0
o ol aale 20 x (00 = 0, 85
/;/’”é/ﬁ AR o
) —Fz.5 .

29. Aluminium is used for making cooking utensils. Which of the properties of aluminium are

responsible for the same?

TegAfam 1 U W TebT & e S H o6 ofre 31 Tegdifies & & 9§ qur 3w

A R T R Y goo@/ concluctets of hegl-
Whith mMalee (b ldeed o be uced to4
mey [2in Coollmg Ubeneile

D Melloo bili ey G Oqch'h'(k& Glpags
(> High  Melbng poink
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27
.d to oz70Ne’
30 What would happen, if all the oxygen present in the environment is converte

amB’ITrruﬁuufawﬁrﬂ‘gcrmﬁsmﬂmTar}afk:ﬁTr)qﬁaffaaﬁlW -
Hoge . Dypme g %gf’/‘a/

28 o, Rk Ll e[S e
& eavikepment will be Olléfjtbfnh:g L’_qn L:al;gui’;u ex)stence

5 qnwjﬁ el lallle oo <4
ol anim e P Laeletrt

7
Only  anaeso bic 0”3“”'5

& tle‘,/ :
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